;The Vision

GENERAL STUDIES, PAPER-I

Time Allowed : 3 Hours] [Max. Marks : 200
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SECTION -1
Describe the social and cultural significance of the ideas of Rabindra
Nath Tagore.
@y T & Wi U qiepias faem St 9Ew @ 99 HifeT |
Describe the contributions of Bihar to the Quit India Movement of
1942, ’
1942 F 9NA B A< H Rl $ aEE %1 v wifag |
Discuss the causes and results of Revolt of Santhals (1855-56) in
Bihar.
far ® Tore fasie (1855-56) % 101 W& Sfomdi =1 fag=m Sifa |
Discuss the salient features of Patna Kalam - painting style.
vt wem-Tamwen Seft # qEa favwaet #1 faass wifeg
SECTION-1I

What are the causes of environment pollution ? Discuss the
international efforts for protection of environment.
e TEET % R T ¥ 2 g W § oy a=neE vad
fafem | .
Write down the impact of “Globalisation™ on Indian society, polity
and economy.
“fagdfiEo” w1 WA w1 GEfaE, TSGR 9 e =Een WO
39 Tl ® | fafaw |
Write an essay on India’s nuclear doctrine.

T T fag W wE fEg fad o
Write notes on any two of the following :
(a) National Rural Employment Guarantee Scheme
(b) Universal Declaration of Human Rights
(c) The Problem of Communalism in India.
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SECTION-1II

There are 1000 households in a village. The average number of

persons per household is 5.5. Out of the total populations 51% are

males and rest are females. Qut of the total males 60% are literates
and rest are illiterates. The total number of literate females in the
village is 1150 and rest are illiterates.

Answer the following :

(2) Represent the data in a suitable table,

(b) What is the percentage of males among total literates ?

(c) What is the percentage of illiterates in the village ?

(d) Ifallthe children below 7 years of age illiterate, then what will
be the percentage of literates in the village excluding children
below 7 years (whose percentage in the village is 20%) ?

& Tita 1000 9fER € | W 9fEr § fen wfwEl wt gen 5.5
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The total monthly income of a {umily is Rs. 12000/-. Out of the

total income, expenditure on food is 40%, expenditure on house

rent is 15%, expenditure on education is 10%, expenditure on other
items is 22% and rest is saving.
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(a) What is the monthly saving of the family ?
(b) Ifthe data are the be presented in,a pie chart, what will be the
angle corresponding to expenditure on house rent ?
(c) If the data on only expenditure are considered, what will be
the angle corresponding to expenditure on food in the pie chart ?
TF URER T AqEE qE T 12000 2 1 SO o F R/ ueA W
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(B) IR e w39 fod & Wl =00 @ @ 7 e W wd
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(M R %aw wd F FS # @H § v gL 9 93 w9 9
Al 99 | 'E & fae s fea g 2 ,
A survey was conducted in a village relating to married females
aged (35-49) years to know about their fertility and practice of
contraception. The following table shows the distributors of such
females according to number of children born to them and cur'ent
use of any contraceptive method.

Number of Number of Number of females
children born female ; using any
contraceptive
method
0 11 0
1 20 8
2 75 67
3 128 60
4 95 32
5 and above 142 37

(a) What is the percentage of females producing less than 3
children ?
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(b) What is the percentage of contraceptive users among thoss
females who have produced at least 3 children ?

(c) If the average number of children produced by those ferpal;-e
who have produced at least 5 children is 6.5, then what is the
average number of children born to a married female aged
(35-49) years in the village ?
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0 11 0

1 20 8

2 75 67

3 128 ’ 60

4 95 32

5 aur afus 142 37
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12. (a) The average monthly income of households of village ‘A’ is
Rs. 3500/- while average monthly income of households of

village ‘B’ is Rs. 6550/-. Can it be reasonably said that people

of village ‘B’ are more prosperous than people of village ‘A’ ?
Give your comments. :

(b) A person went from his house to railway station with a speed
of 10 kilometres per hour and returned back with speed-of 8
kilometres per hour. So his average speed was 9 kilometres
per hour. Give your comments.

(c) Inaassembly pole in a state, three major parties polled votes
35%, 30% and 25%. Can it be reasonably said that the number
of seats won by them will be nearly 35%, 30% and 25%
respectively ? Give your comments.

(%) 7ig ‘A’ & gRER 1 Si9a TiEF 379 % 3500/~ € Fe M4 ‘B’
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